2B # & % B (HE)  Bfimm
1 | tan F12 12
2 | naias F12 23
6260 3 | ame F12 6
3130 , 3130 L | HbEE F12 12+16
! 5 | EEs F12 16
65 6X500=3000 130 6X500=3000 65 6 | HED F12 12+16
N IREEE 718 23
e 8 | Rpumides F12 3.2
9 | tim Y10 1.6
10 | #i Y10 16
IHEZ=5 Y10 1.0
12| Rba F12 2.043.2
- = EREZT F12 2.0432
o Y | ROERIR Y10 1.0
- 0 15 | FRAN- F12 23
75 = 16 | RPAN- Y10 0.7
. 17 | BEPR F12 16
| n 1B | BED F12 16+2.3
19 | B®R/S2V Y10 05
A 20 | BEGREM FMH)BIR- | RUTFL VT4 -4 40
= < ARELEN F12 0.7
(Wa)
=T 2 | #RES Y10 0.7
A 23 | BRUEIE Y10 0.7
2, | 0-F-%8 F12 23
25 [ Srv9-Rovh) 708 05
= 26 | v o-nn- F12 0.7
= 27 | WA+ v 9—L—)b PHIZDLEEBEIM
iy 28 | L —)u{EHEiR T2V ASLERIM
S F12- BREsa® - * RIS G 3302)
= V10> BB B -5% 7 V3= Aba®o SERUIS G 3317)
© 208> 2 £ EmBHRD - @RUIS G 3312)
718> — RS A ARE IS G 3466)
A b
ANAEDOEEO AREOESEO =
100 62.5 2813 625 [|62.5 2813 62.5 100
192
6268
| 6420 | | 6055 |
80 | 6260 | 80 [ 140 | 5775 | 140
*J\ | 1000
i ] %
g LN
N I
D 3 & ) =
| A {8 3 N
O e ~
= -
-';‘
= == ==
T vapmxs |
VGL o
N =)
ME+v 25— ME+ v 59—

AR

HiE4A

<HsR> S=1/60

~EEL~

GRN—3157HL—2

OFA%hEIO~t:%:2813 x 2118(mm)

O

PR #%&:36.15m(10.961F)

i 2% Fig 3% BU1E PR




